
 

PART No APC-100400 

BRAKE LINE RELOCATION KIT 

TO SUIT: HOLDEN COLORADO, RG (2012-on), ISUZU D-MAX (2012-on), MAXDA BT50 (2020-on) 

KIT CONTENTS 

2 x BRAKE LINE LOCATION BRACKETS 3 x M8 x 20mm FLANGE BOLTS 
1 x M8 x 25 SOCKET HEAD BOLT (SHCS) 3 x M8 NUTS 
2 x 4mm SPACER WASHERS 4 x M8 SPRING WASHERS 
1 x FITTING INSTRUCTIONS  

 

1. SECURE THE VEHICLE, AND APPLY HANDBRAKE 
2. ON RIGHT REAR OF VEHICLE, REMOVE SPRING CLIP THAT RETAINS THE HARD BRAKE 

LINE, TO THE MOUNTING BRACKET 
3. GENTLY PULL THE HARD BRAKE LINE THROUGH THE BRACKET SO THE FITTING IS 

CLEAR OF THE HOLE,  
4. SLIDE THE  LARGE BRACKET UNDER  EXISTING BRACKET AND RESECURE TO CHASSIS 

AS SHOWN IN PICTURE. 

PICTURES REQUIRED 

 

 

 

5. SLIDE BRAKE LINE BACK INTO THE NEW BRACKET AND REFIT THE SPRING CLIP. 

NOTE: MOVING OF THE BRAKE HOSE BRACKET ON THE LH CHASSIS RAIL IS ALSO 
REQUIRED 

1. MOVE THE LH SIDE OF VEHICLE, 
2. USING A 12mm SPANNER, REMOVE BOTH BOLTS SECURING THE BRACKET 
3. INSERT THE STUD OF THE NEW RELOCATION BRACKET TO THE BOTTOM OF THE HOLE 

OF THE OEM BRACKET WITH THE SUPPLIED NUT AND SPRING WASHER 
4. INSTALL THE SOCKET HEAD BOLT WITH A SPRING WASHER TO THE TOP HOLE ALONG 

WITH A 4mm WASHER BEHIND THE BRACKET, SECURE TO THE TOP CHASSIS 
THREADED HOLE 

5. THE LOWER MOUNTING HOLE WILL BE SHARED WITH BOTH THE NEW BRACKET & OEM 
BRACKET, SECURETHIS WITH THE REMAINING M8 BOLT/SPRING WASHER AND NUT 
AND 4mm SPACER WASHER    


